Worksheet:
Rule Violation Answer Sheet 306
Part I									Part II (SE or RE)			Possible cause
1:2s  or	12s		____	____					___					______________
2:2s  or	22s 		____	____					___					______________
1:3s  or  	13s 		____	____					___					
4:1s  or 	 41s 		____	____					___
2 of 3:2s  or  2 of 32s 	____	____				___					______________
3:1s  or	 31s 		____	____					___
10x				____	____					___
7T				____	____					___
[bookmark: _GoBack]R:4s or	R4s	 	____	____	____			___					______________
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Worksheet:   Rule Violation Answer Sheet   306   Part I                   Part II (SE or RE)       Possible cause   1:2s    or   1 2s     ____   ____           ___           ___ ___ ___ ___ __   2:2s     or   2 2s       ____   ____           ___           ___ ___ ___ ___ __   1:3s     or      1 3s       ____   ____           ___             4:1s    or       4 1s       ____   ____           ___   2 of 3:2s    or    2   of 3 2s     ____   ____         ___           ___ ___ ___ ___ __   3:1s   or     3 1s       ____   ____           ___  

